2017-01-15

5188 $REE FrLUY 9737793077 WEATHER : Fine
CHALLENGE CLUB(1/6) COURSE : Dry
3Gr.Time Attack 2[A]1 H
Lap Time Chart EEL— 2 T—X

40 C3s ki ER ¥3%5.. S2000 PIT: 2[H

1= 3= 3'30.984 4= *2'24.426 5= P3'14.671 6= 11'06.419 7= P2'44.245
2= 2'25.242

141 C5R %k XBA 32RFRE—AH-AR-YD57 Zh131VGT-R PIT: 2]
1= 3= P3'40.367 4= 5'37.766 5= 3'12.372 6= 2'24.208 7= P3'11.803
2= *2'23.641

42 C3R & % ATACs14 YIET PIT: 2[E

1= 2= *2'39.985 3= P2'49.633 4= 6'12.766 5= P2'58.506

43 C5SRER X#i BNhTHLHHEL FU¥-Ik1-Y3v9 PIT: 1E
1= 3= 2'58.268 4= 2'24.765 5= 3'10.562 6= *2'23.639 7= P3'16.402
2= 2'24.094

44 C5SHHE £%F +YhGT-FOUR PIT: 1[H

1= 3= 2'58.628 5= 2'26.603 7= *2'26.095 9= 2'39.258 11= P3'14.526
2= 2'26.155 4= 2'53.765 6= 3'04.024 8= 2'55.048 10= 2'28.113

45 C5R £#| %7 ZEAL*EvoWl 7 #-1&")1-Y3v8@ZEAL PIT: 1[El

1= 3= 223321 5= 224508 7= %223.107 9= 223622 10= P2'58.929
2= 231.174 4= 258022 6= 238434 8= 2'44.394
47 C3R#R BE EULATE-TEETENSHICEERIEZY S2000 PIT: 1[E

1= 2= 228207 3= ¥2'25.424 4= 249504 5= P243517
49 C4S LR — A WEERFINFS BHRFRF ELISE PIT: 2[E

1= 3= %219.602 5= 1106411 6= 219898 7= 221835 8= P2'56.432
2= 220512 4= P2'43.638

50 C5R /M AXBR JMA'9hC7 206 PIT: 1[E]

1= 4= *2'24.964 6= 2'25.020 8= 2'50.662 10= 2'26.539 12= 2'27.039
2= 2'25.315 5= 2'57.484 7= 2'25.822 9= 2'26.240 11= 2'45.231 13= P3'17.444
3= 2'25.643

51 C5R¥#E # Ah434Y PIT: 1@
1= 2= 2'23.263 3= 2'23.219 4= *2'23.119 5= 3'18.925 6= P2'57.192

53 C5R ¥ #h— DTS996GT3 911 GT3 PIT: 1[E

1= 3= 228770 5= 227689 6= 228382 7= 237557 8= P2'55.637
2= 232831 4= *2'27.073

54 CASHRE HE AAMB#HELTHERSIE~! S214y-Y PIT: 1H

1= 3= 258313 4= 220809 5= 255848 6= 221735 7= P2'48.269

2= *2'20.690



£18E $E FrLyY 937953077
CHALLENGE CLUB(1/6)

3Gr.Time Attack 2[81H
Lap Time Chart

C5R 1B Rk #&m ! HalENFET ! F4-Ik)a—-YaVVIMR PIT: 1[8]

3= 237.067 5= 306.957 7= 314.821
241175 4= 230.187 6= 228,619
C2S TN AR T'sAVTHVAXKIBIEBXEKS Yt'v) PIT: 3E
3= 229300 5= P301.604 6= 7'16.955
316.704 4= 2'27.990

2017-01-15
WEATHER :

COURSE :

Fine

Dry

EL—>203—X

*2'27.384

*2'27.521

o=

8=

P3'42.187

P2'56.204



